Shift register practical
Build the circuit shown in the diagram below. V1 is a signal generator set to about 2Hz; make sure you use the TTL output. Do not forget to connect 5v and 0v to the chip. Use a push switch to connect A1/A2 to Vcc (5v). See what you can do by pressing the switch. Explain the results.
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Extension

Remove the switch and 1K resistor and use a NOT gate to connect Q7 to A1/A2. What happens now? Explain the results.
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How can you connect a switch to reset the shift register (note the circle at RST)?

Take out the NOT gate and use XOR gate from two of the outputs to A1/A2. What does this do?
